jg Multiply by powers of ten (missing number)

Name: Date: Score:
7.092 X =709.2 8.455 X = 84.55
8.646 % = 8646 10.145 x = 10145
6.265 X = 62.65 4.694 x = 469.4
1.668 x = 1668 9.499 x =94.99
2.059 x = 2059 2.831 x = 28.31
8.6477 % = 864.7 10.219 x =102.19
5.177 % =517.7 8.5 X = 8500
10.576 % =105.76 7.032 X = 7032
4.546 % =454.6 4.858 % =485.8
2.489 X = 2489 10.045 x =100.45
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Multiply by powers of ten (missing number)

7.092 x 100 = 709.2

8.646 x 1000 = 8646

6.265 x 10 = 62.65

1.668 x 1000 = 1668

2.059 x 1000 = 2059

8.647 x 100 = 864.7

5.177 x 100 = 517.7

10.576 x 10 = 105.76

4.546 x 100 = 454.6

2.489 x 1000 = 2489

Date: Score:

8.455 x 10 = 84.55

10.145 x 1000 = 10145

4.694 x 100 = 469.4

9.499 x 10 = 94.99

2.831 x 10 = 28.31

10.219 x 10 = 102.19

8.5 x 1000 = 8500

7.032 x 1000 = 7032

4.858 x 100 = 485.8

10.045 x 10 = 100.45
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